Student Technology Fee Committee

Request for Funds

REO# -	
--------	--

Make sure to complete all areas						
Request Submitted		Number of Student	If Approved			
for STF Committee	_ Documents Attached	Impacted by This Request	Next Step:			
□ Fall	X Quote		Submit Request Center			
□ Winter	□ Contract	Over 500-600 per	Technology Ticket			
X Spring	□ Other	students quarter	with Funding Request			
71 Spring	- Other		& Quote attached			

Requester: Chelsie Hanks	Date Submitted: 2/24/17
Amount Requested: Similar to cost of the	Fiscal Year: 16-17
kiosks in the R bldg.	
Request for	
Computer/Print Kiosks in the T Bldg.	
Drogram(g) hanofiting from this request?	

Program(s) benefiting from this request?

The large student lounge areas on the 2nd and 3rd floors of the T Bldg. are frequented by many students from across campus. Students enrolled in many of the Health Sciences, Education & Wellness Institute programs, as well as other programs that schedule classes in the T Bldg. on the First and Second floors would benefit from these kiosks.

HSEWI Programs:

Allied Health

Alcohol Drug Counseling

Early Learning Teacher Education

Diagnostic Ultrasound

Health Promotion & Management BAS

Health & Physical Education

Neurodiagnostic Technology

Nuclear Medicine

Nursing (ADN, BSN, CNE, NAC, RNR)

Radiation Therapy

Radiologic Technology

Timeline for Expenditure(s): 6/30/17

Number of Students Served Each Year by Program: 500 - 600 students per quarter (HSEWI Programs and other students taking classes in T Bldg.).

Describe the activities and expected accomplishments and why the Student Technology Fee should fund this request:

Having these kiosks in the T Bldg. would provide students without their own personal computer convient access to a computer to print and access information online. This will benefit many students on campus not only students in the HSEWI programs. Providing computer/printing kiosks meets the BC strategic plan goal #3 equity and social justice for all.

What other ways have you tried funding this request:

When the T Bldg, was being planned, we had originally considered installing kiosks on the 2nd and 3rd floors however there wasn't enough funding to move forward with this project.

Requester: Send re Supervisor:	quest to your Division Char August to your Division Char Signature	ir or Supervisor for initia	l approval. 2/24/2017 Date ology Services (N215A) to be
VP of Information Tec	added to next Quarters ST		echnology and
Signature	Date	Signature	Date
STF Committee	To Be Completed By Info	rmation Technology Se Notes	Other documentation Required
□ Approved □ Denied □ Inconclusive			
	<i>t this section <u>after</u> activit</i> iments:	y.	
Complete and submit Describe accomplish		y.	

Describe the anticipated impact on students from these activities:



Pricing Proposal

Quotation #: 13404026 Created On: 5/2/2017 Valid Until: 5/31/2017

BELLEVUE COLLEGE

Inside Account Manager

Sheila Colbert

3000 Landerholm Circle SE Bellevue, WA 98007 **United States**

Phone: (425) 564-4357

Email: scolbert@bellevuecollege.edu

Jon Franklin

290 Davidson Ave Somerset, NJ 08873 Phone: 800-477-6479

Fax: 800-477-6479 Email: Jon_Franklin@shi.com

All Prices are in US Dollar (USD)

	Product	Qty	Your Price	Total
1	Ergotron StyleView Sit-Stand Enclosure - Cabinet unit for LCD display / keyboard / mouse / CPU - charcoal black - screen size: 22" - wall-mountable Ergotron - Part#: 60-610-060	2	\$913.01	\$1,826.02
2	Dell P2418HT - LED monitor - 24" (23.8" viewable) - touchscreen - 1920 x 1080 Full HD (1080p) - IPS - 250 cd/m - 1000:1 - 6 ms - HDMI, VGA, DisplayPort - black Dell - Part#: 210-ALCS	2	\$324.72	\$649.44
3	Dell KM636 - Keyboard and mouse set - wireless - 2.4 GHz - black - for Vostro 15 3565 Dell - Part#: KM636-BK-US	2	\$37.78	\$75.56
4	HP Color LaserJet Pro M452dn - Printer - color - Duplex - laser - A4/Legal - 38400 x 600 dpi - up to 28 ppm (mono) / up to 28 ppm (color) - capacity: 300 sheets - USB 2.0, Gigabit LAN, USB host HP, Inc Part#: CF389A#BGJ	2	\$433.74	\$867.48
5	Electronic HP Care Pack Next Business Day Hardware Exchange - Extended service agreement - replacement - 3 years - shipment - response time: NBD - for Color LaserJet Pro M452dn, M452dw, M452nw HP, Inc Part#: U8TN4E	2	\$74.33	\$148.66
6	OptiPlex 3050 Micro Dell - Part#: 3000013415813.1	2	\$903.50	\$1,807.00
			Total	\$5,374.16
ddi	tional Optional Items			
	Dell KM714 Wireless Keyboard and Mouse Combo - Keyboard and mouse set - wireless - 2.4 GHz - US - black - for Inspiron 15 N5030, 15 N5040, 15 N5050, 24	2	\$63.72	\$127.44

wireless - 2.4 GHz - US - black - for Inspiron 15 N5030, 15 N5040, 15 N5050, 24 3464, 3052, 32XX, 34XX; Dell Wyse 3030

Dell - Part#: KM714-BK-US

Additional Comments

- · SHI International Corp. quote proposal is valid through the expiration date listed above.
- \cdot The pricing offered on this quote proposal is based on Net 30 Terms, unless there is an existing agreement between SHI and the customer.
- · The Products offered under this quote proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy unless there is an existing agreement between SHI and the Customer.
- · All purchase orders or awards received in response to SHI's quotation are subject to SHI's Terms and Conditions of Sale, unless there is an existing agreement between SHI and the Customer.
- · Available quantities reflect stock at the time of quotation and are not guaranteed availability at time of order.
- · Freight cost, if applicable, is an estimate for planning purposes only and the actual freight amount will be displayed on the final invoice.
- · Tax calculation, if applicable, is an estimate for planning purposes only and actual tax will be displayed on the final invoice.
- \cdot When issuing a PO to SHI please include applicable Contract Number, if any, SHI Quote Number, End-user Name, Email and Phone Number
- · SHI International Corp. is 100% Minority Owned; Woman Owned Business TAX ID# 22-3009648; DUNS# 61-1429481; CCR# 61-243957G; CAGE 1HTF0

The Products offered under this proposal are subject to the SHI Return Policy posted at www.shi.com/returnpolicy, unless there is an existing agreement between SHI and the Customer.